
Nonsense                                                                                     A property of  
definition                                                                                     an amplifier    
of the                                                                                           can not be a    
noise figure:                                                                                 function of T
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Sensible definition F=1+
T RX

T 0

@ T 0=290K ←→ T RX=T 0 (F−1)

Logarithmic units F dB=10 log10F=10 log10(1+T RX
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